1,200

56.0%

1,200

56.0%




70.9km)

8.6ha

37,410

23%

30,913

22%

10

2,907

21%

70.9km

/ 8.6ha

30.2km /

2.2ha




77.5km)

8.1ha

36,100

14%

29,594

10%

3,516

39%

35.0km /
77.5km

7.4ha / 8.1ha




@ 1200% 290psx

¢ 1200x 200kwx 1

2,919

68%

2,792

68%

¢ 1200x%




kwx

3,465

69%

3,011

66%

149

84%

=19,019m
@ 400x

=6,184m

=2,200m
=55m

=5,588m

=4,472m

=7,788m

=4,527m




138m

20,700

L=79

L=250 m

2,763

92%

2,300

92%

21

100%




823

81%

604

7%

219

91%




1,256

87%

1,025

86%

231

87%




1,510

71%

1,247

65%

263

100%




10

507

54%

492

52%

15

93%




11

3,615

89%

3,099

87%

516

100%




12

km

2,135

79%

1,129

78%

1,006

79%

B/C=3.0




13

km

6,000

71%

4,300

62%

1,700

93%

B/C=1.6




14

5,763

89%

5,078

87%

685

100%

B/C=2.0

15

17




15

km

11,700

83%

9,123

80%

2,577

97%

B/C=1.7




16

L=7,870m

Q=270
660m3/s
L=11,960m
V=692,560m3 28150 55K
L=11,160m
20
3
16541 3%
11609| 78

49




18

L=11,400m

Q=1,300
1,900m3/s

L=33,465m

V=3,760,000m3
L=54,600m
32
15

28,740

68%

20,522

67%

8,218

70%




19

L=13,2100m
Q=80
930m3/s
21,800m
428,000m3
28,410m
16
1
32
2

18,101

59%

15,163

58%

2,938

65%

1900m




20

L=3,540m
Q=120
200m3/s
6,900m

6,900m
V=240,000m3
4

1
13

6,230

69%

5,212

69%

1,018

67%

1,700m

23

200m

23




21

L=3,270m

Q=650m3/s
=3,270m
V=198,710m3
=1.730m 2,325 27%
L=2580m
3
1,080m
6
1
1,780 14%
545 69%




22

L=1,660m
Q=63
66m3/s
1,660m 5124  22%
2
2
3
23
3578 9%
1546| 5%

50%




23

L=22,700m

Q=430
1,200m3/s

L=7,065m

V=1111,800m3
L=16,007m
7
3

6,121

82%

5,401

80%

720

92%




25

L=6,300m

Q=90
230m3/s
L=4,710m D
V=171,500m3 11,090 7%
L=5,300m
15
2
10
10256 5%
834| 40




26

10,600

71%

10,200

71%




27

2,697

90%

2,565

90%

694.9m
574.9m

120m




28

1,599

74%

1521

74%




29

1172

74%

1,094

74%

47,000 3




30

7,732

74%

7,272

74%




31

15,062

70%

14,148

70%




32

m2

1,737 99%

H6
486 99%
H16 1251 99%

m2




33

m2
305 4%
H6
142 0%
H16 163 93%

m2




34

m2

4,330 55%
H6
2,635 14%
JR
H19 1,695 97%

m2




35

91.8ha

28,650

42%

18,330

30%

10,320

63%

19.8ha




36

37.2ha

6,470

97%

3,880

95%

2,590

100%

37.2ha

NPO

NPO




37

4,179

79.5%

4,179

79.5%




38

4,110

58.7%

4,110

58.7%




39

7,635

53.2%

7,635

53.2%




40

km

6,481

97%

4,229

95%

2,252

100%

B/C=15







102

2,400

11,322m

1,700

87.6%

1,700

87.6%

L=9,293

B/C




103

192

5.2%

111

9.0%

81

0.0%




L=1,042m 12
Q=95 936 51%
145m3/s
V=68,000m3 450m
L=2,084m
5
810( 44%
104
126 98%
67.0%
61.0%
105

72.0%




106

180 a

1,362

32.9%

1,312

30.3%

50

100.0%

4.0ha

17
80 a




107

12.8

4,400

87.8%

3,900

86.1%

500

100.0%

8.6

54

19




108

132

3,725

70.1%

2,992

66.6%

733

84.2%

97

57

109

181 ha

8,568

74.3%

5,292

72.2%

1,077

87.3%

12

10

18.1ha

12.8ha

20

NPO

NPO




110

256ha
5,760m

@ 1200x 2

@ 1400x 2
@ 1500 3

5,183

85.3%

5,038

83.0%

145

100.0%

15 4
@ 1500 2

86

85

12




111

1,697ha
36,090
24,183m3/

38.3km
1,697ha

149.03m3/
10.0km

40,593

21.8%

36,472

17.9%

218

34.4%

12
212.9ha
5,853
3,735m3/
8.7km
a7
145.3ha
1,305
25.78m3/
3.4km

B/C




112

(

1547.0ha
39,800
26,841m3/
35.8km
367.9ha
10.4k

50,120

12 3

19.6% 318.1ha

2,284m°/

50,120

9.7km

170.0ha

0
19.6% 5.9km

10,484

B/C)

5715ha H




113

150ha

3,156m

@ 3000x 3

@ 700x 2

3,317

81%

3,226

81%

91

100%

108.0/150.0 (ha)
72%

2,276/3,156 (m)
72%

10.05/12.15 (m3/s)
83%

3.80

B/C
B-C 9,744
B=13,224

C=3,480




501

L=3,608.5m

785

957




502

195,000m3
110,000m3

8,800m
552m

1,368

1,324




503

425m
268,880m3

1
425m
8,310m2

3,680

3,705

20,100

43,650

20,100
H12







